MIDTERM EXAM
Physics 140A—~ WINTER 2012

Instructions: Do any six of the eight problems.

[1.] The primitive lattice vectors of an fcc lattice are
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What is the volume of the unit cell V.7 Compute the reciprocal lattice vectors 51, 52, bs. Do
you recognize these as a particular lattice type? What is the volume of the unit cell of the
reciprocal lattice (volume of the “first Brillouin zone”)?

[2.] Consider a mass spring-system with all springs identical and two different, alternating,
masses M; and Mj. Describe the normal mode with the lowest frequency w. (Draw a picture
of the motion of the masses.) What is the value of w? Describe two more normal modes,
again drawing pictures of how the masses move. What are the frequencies of these modes?

[3.] An alternative to regarding the fcc structure as having a single atom basis with the
dy, 2, ds in problem [1] is to consider it to have a cubic unit cell of sides a and a four atom
basis, with atoms at (z;,9;,2;) = (0,0, 0) (0, ‘2", ), (g,U, ‘;) (2,%,0). Then the structure
factor Sg for a reciprocal lattice vector G = ’Ulbl + 'Ugbg - Ugbg is given by,

'U1 UVa ’U3 Z f_;, eXp — 273 ('Ul.fl?j + Vol + Ung) )

Assume the atoms are identical so that f; = f. Compute S(v; ve v3). What are the conditions
on vy v3 U3 0 that S does not vanish? (That is, what are the “allowed reflections”?)

[4.] What is graphene and what is its structure? Is it possible to describe the atomic positions
without using a basis? That is, can you write the atomic positions as R=nia@+ ng dy with
ny and ny any integers and @, @; two primitive lattice vectors? Why or why not?

[5.] Show that the volume of the first Brillouin zone is (27)%/V, where V, is the volume of
the crystal primitive cell.

[6.] The hydrogen atom number density ground state is n(r) = (mwad)texp(—2r/ay), where
ap is the Bohr radius. Show that the form factor
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What are the limiting values of fg at small and large G?

[7.] An x-ray scatters elastically off a crystal. What can you say about possible values of
its change in momentum? Using your answer, prove that a Bragg peak can arise 0111y if the
incoming wave vector % lies on a plane bisecting one of the reciprocal lattice vectors G. Since
these planes are only a two dimensional subset of a three dimensional space, the chance of
k satisfying this condition is incredibly small. How do experimentaliats solve this problem?



8.] The participation ratio for a normalized vector ¥ with components v, (where n =
1,2,3,--- N) is defined as,

P= ()

n=1

Consider a vector ¥ with only one nonzero component. What must the value of the compo-
nent be for 7 to be normalized? Compute P for such a #. Does it matter which component

is the nonzero one?

Consider a vector ¥ with all components equal. What must the value of the components be
for ¥ to be normalized? Compute P for such a .

Comment on your results. Does the name “participation ratio” make sense for these two
extreme examples?




projact:

MIDTER m s xaxM _ PIHoA  WZble

u ~ % (44 *1(44 )+~t‘ t)

\izq SR XN
"Yha fa ©
AN\ £ A 2
vV, = J:a('u%a) ,L.‘c\?"[~x+~\f4):,’§."q5
C = 3 7 = X 3 7
Y 211__ — 2 f'.f\ (.\ ™y
b, = — (aq XA = T (,\:a\t\,\**‘ﬂ 2 )
Ve K 3 (Yyad) ’
Cout AT B
A A A {
= Vo = i Clyo=) A r 0o '
0 L

o br vechwo fovm a ‘;_r:: [affice ., Th velunct 11
el ot 3 n . A ; fi ‘%’ ‘
by {arhy) = (&) Coeeln 1oLy

k\ - -'\l‘

(=) v ia ) (ontan aga) = T (CFa)
\ & e um’ﬁ'\j"‘ﬂ %Nﬁf\“i
Dl\/@A This 23" et 0 e’




. @ e 7}@ Lovwest ﬂ(f’ e%..u,‘:a_w, Aoyeral  mode s A UV‘VFWW\ o

. Wq%f\ah@v\” ,o,‘C all. ALCAIEL Ne S‘a?,k»,nas.w qweS‘)‘/e’t‘ci"Qtl end W =ao

Vo trave veversl  wWodts ave cwvxrwcak:ﬁ‘,br‘,,.ka.q,\,w%.,,m\j
e ™M, mages Mod€y ov ent TR My waerter meue
CBlin The  Masses  which lo wwewe  alhwvvele o Ayvechua
e equsl s ph Yude

R iiee«f““i‘}b e e & fLveas owm fadh N& I

e LA c“*‘) \= P*-Q»‘-f RSy Aol The F,@%.&gmb_‘

H“sl Do w A wasyer s W= QJ‘*/W\\ CNALR

Mey ar@a con A?@R@ by spue Fo huslesy
R L

smw‘z The s a4 wodo "1_ ‘?’A‘?/ML_U

g’\\w w\/\LoL OA\:I 2’ | mﬁ‘p‘g‘ W‘G\Q



{’37\ T £ we sdbehhde in Pe Fuen ('%J y\)—?j) Mo S owse §é§‘

-f»»--~_m,<uzw D) iy wg) LW j

u\v;vgﬁ >3 \: Vi B

W n}oévx‘f‘ o Wnow Q«»v w\r‘l'\( R ples 6; 1«\‘?1‘&@\3 w»

W \ "é’“’V'z_ e o
vwqu

Al Viewea 2 Slwvewyy=ME o

*w&Amjékj\&&qu | N
eyt SGyu) = FLt)reon)=e

MAy @~ o
lt\)3 >>>>> 20

D vreen ladd STy NE) <O A
f"" Ny ed} e

Vl XVL_ 2dsA
V‘n '* \f‘g & ei\ \;i
T N




project:

3

é!ya\,'ﬂ’rxwz L5 a }‘\o,xaéen._ﬂ aJV\,c»; e':’lL Cw»bcw e«»‘}BMJ 1P

O S’)Hj)z M'}L )i Con b o ‘\l‘h\ S}*vwz)w .

!Cs—'cﬁ\
¢ S o€ <
AN AN
g = C—mm—C
A -1
':L P oS
Suy‘)pﬁgz alenmy | e 3 sre oM ey K")VES-"LL{ o n.-::\"f ‘3)\0\:1
> = = : Cx
= B ; \ = &““\A\)(\\ 4 (n?_,_“’:‘gdz
2) Y\; q, tw, 4, 3 C,
-2 Y
Thean </thr6( at—  2) ﬂi”% + O-z,”q.:,
—
oA adXding /‘l\) -, )a t Chf - f\,')Q-
d—f Ay ¥ Y 7YY — L= [

iy N 4o VS e ceeden - Te MQ&W Prosnleosh

®x +  (n 40, M)a t (0 +n -0 Ja,

bd\" Ahng <Ny G QW}‘M.\Q. ?ess@ﬁ%w pf/ }’M“?«UKQW

Aathee .

.Sm \f°“ w\oj}f 4 te gg)amjam fas %C%LL@WE;;“‘WQ

- DIVCSA




project
)
N - — = - > . - e e
b= % a,%a, b= & axa, b,= = a xg
o Ve > (3 e 3
Voo = b (bxby) A B ¢
. —_ T 7
= (2™, )" (4,xa; )= (8 85 )x(a, » qa'z,)l

BlA<c )- ¢ (AR)

AA(Rxe )=

Cole ¥ lopea e Lo (Gras)is) = qﬁmaqﬂ;
/ b
AV 3‘)
T
= (/) Ve (ay%a3) -,
L i, Ve S
\'C

DIVCSA



project:

<]

S gy
:F/ = Y7 \E‘dif n(r} Y‘L q

—avl/,
— wlv) = L e e
i r a2
t =26/
= Lh-r(o\r — 'FJH\GY‘Z
PRl
= ~ f(;-lr ﬂﬁh = 244
z = SAY‘ p & —F e te
459 2 {
o . QL%—%/&Q%}.A ("té}"‘zyn‘&)h\ )
z - \ LA — A \ Ay :
rasg e O 4
y =} 7(1 =ox “'@'374 3 Wat e 1
Y Xe "dx = xe + le o Tl e k=
2 P —~b ) ~ b LRSS ba"_
¥ O N
" AV
— pa \ - \
- o _ A R ~ N I o
AR GRS R SN
I
)_
. ' Z R
= @(-:3 e "/) (;oé,r%_\ (6~
Lag :
S REAASD B BTSSR AT T A N
W s = x
2\ 3.8
- P T . VAR Yo A
A% N T2/ -
= e /'(611_147‘4-’-{71
For §—ve £ v
T ARV /AW




project:

ﬁf\

T

Md\arge A W\uN'\hAM WWJ‘}' e%_u‘& - VEC\\;TOC&«\“\_‘\‘& \de"“"

.Y

bl( ‘;K""k :é!

P

1«‘/ He jcacH"sz\wé; Ty elarke ‘K’ _'”\L'z e l’\"'\’“—i
k! ::—\Zak-(;
£ ! P
W Wrakqtg -
- A Y
Ko = 5|4
¢ N - .
cam pansk A = Ll 1§ = ke lere
‘)L ke Vaﬂ‘t\ é; p(aNa. =
btrec,hg&‘ég

T,g _7&«'\{0;*% fauvie tlg" mf\m@dct’\vaw@%n ) ‘f\s\é\“ \\&\

hor A twahausay “’f\d"”a& of “okses av g crypteld 1,

.r.\}-p,)tpe. &:-eﬂem*e"‘hv‘uﬁ A _aNaratlee e Bvega
Al 7 F ¥ ~ \Q‘J

cgv\o‘\}'\n’\ wnll Ye Ya,ﬁ S"F"eul.

!2 —‘\ ’r/‘g——su’\\‘é ave \jv\_ i [ \+ WAL S eu‘au&j\ L l)‘-; I‘\ql'd\'a"\?‘“&\ﬂ".

Den  Svyi=41 awd P=1,

“D’L ol Jn are %V"‘Q Froq sy e ¥h /\T‘“ ho “"Mh}fe-

Trean Z\)} = 2‘/&,?-» =N ad P

'Tkz PQ!"T\.&\G}@\:\W U‘a\’\.@x w\a.\lcm e ve f%e.q . T~ fove. L gg\\""}

A flwz&z cduu}qov\mq’} 1§ ngnigAs . Twn B cone & ')"‘lb! &QQ.MQ

DIVCSA




